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3 AeHb, 1 Hegenu

JHepreT Ne
Mpuem nuwy, HanmeHosakue 6nioaa Macca nopuvy | lMuwessie sewecTsa u- ButamuHbt MutepankHsie BeuecTsa peuen-

yeckas VDL

Beniy | Kipet, Yrrieso B1,mr| C,mr | A, mkr | O, mkr B2, mr| Ca,mr | Mg,mr | P,mr |Fe,mr | K,mr | I, mr B Se, mr

r [k aw, 1 Mr
3asTpak

Cyn MOMOYHLIA C BEPMULLENBIO C Macnom 150 5 6 20 188| 0,04 1] 35| 0,28 0,06| 19.30 3,10 29,10 0,53| 22.30| 121.30 ] o] TTK
Monoxo kun. 150 6 5 10 110 08 05 51 0,08| 0,08 52 1,9 68,2 08 118 33,5 0 ol TTK
Macno cnveoYHoe NopuvaMA 10 0 6 0 67| 0,06 0,14 63,1 0,24| 0,08| 183,79 12,26 112,95 0,06| 28,33 0,00{ 0,01 0,0 TTK
BaToH oAnpoBaHHbIA 20 1,4 0,5 9 62| 0,06 0 ] 0| 0,03 6,7 1,0 26,5 0,7 39,5 1,09 0 0| TTK

Wroro 3a 3asTpak 330 11 17 39 427 1,0 06 1032 0,6 03| 2618 28,3 236,8 2,1 2086,1 155,9| 0,0 0,0

2 3aBTpak
hpykT 100 0 0 13 88| 0,02 7 0 1 0,02 14,0 8,0 14,0 5,30 140,0 0,0[ 1,60 o TTK
0O6en

Cyn kapTodenbHbIA C SALOM 1 Kypoi 160 2 4 6 169| 1,00( 24,30 9,30| 0,03 6500| 44,30 20,50 58,3 1,65/265,30| 62,30/ 0,03 0,07| TTK
MeyeHb NO-CTPOroHOBCKN 50 15 10 20 153| 0,19 19,50( 31,00 0,21 0,18| 44,25 41,60 179,20 2,20| 656,00/ 205,00)0,01 0,02| TTK
Kawa rpeuHesas oTsapHas 110 2 4 30 150{ 0,35 ] 2| 0,09 065| 2030| 13560 210,10 53| 2650 1,304 0,02 0,02| TTK
KomnoT ua sirog c\m 150 0,1 0 12 50| 0,03 ] 0 0| 0,04 16 9 15 29 250 3 0 of TTK
Xneb pxaHoi 30 2 05 8 60| 0,05 2 0 0| 003 38 39 17,5 09| 215 0,00 1] of TTK

Wroro 3a O6eg| 500 19 18 72 582 16| 458 423 03| 659 1287 210,6 480,1 13,0 1457,8 2716 01 0,1

YNROTHeHHbLIA NOMAHKK

Pary 13 osolieii ¢ Macom 150 5 6 10 188| 0,16/ 18,9 20,20 0,18 0,40| 27,40 28,70 99,70 1,60|573,80| 62,00/ 0,1 0,06| TTK
BaToH ogupoBaHHLIi 20 1,4 0,5 9 62| 0,06 0 0 0| 0,03 6,7 1,0 26,5 0,7 39,5 1,09 o of TTK
Yai c HU3KUM cofepaHvem caxapa 150 0 0 2 52 0 0,1 4] o[ o001 5,15 44 8,24 0,01 151 0 0 of TTK

WUrtoro 3a Monguuk 320 16 17 27 302| 0,13| 7,02 19,4| 0,12 01 47,0 33,37 971 6,19]518,13 4,48]| 0,02 0,44

Wroro 3a gets)| 1250 50 57 259 1845 27| 535 1649 i1 66,3| 3909 272,2 814,0 21,2{21821 462,8| 0.1 0,6





